ITY7Lvh-C i1 TAFLET-C

#E:HSSE =EWE:C

Tap material Surface treatment

SE%
2+
SF
0y TYPE 1 TYPE 2
4V
%7 ec %Dn ?Ds 0K 2c %Dn ®Ds Ok
4 C,
35 > >
33 | @ ) I
r Ij I I : 2k
2
g \I: E!Zn . % [ " en . ]
; ﬁ? *M1~MBDEfT (8c) BlIFEimb AUV 5 —ZRELTHDET
oIk
B
ﬁ% @ X—kJLaLH 847 (Unit): mm
745 L No. U Bt BE AR R 3 & (mm) Dimensions SIYTIVE | HEE
_ Item No. Nominal size Lc Limit Type L 2 Ds on Dn K 2k Radial | Oil groove
| 3 02014 M1 x0.25 P g 1 30 5 3 8 1.0 25 5 4 -
;5 A 02015 M1 X0.25 P 4 1 30 5 3 8 1.1 25 5 4 -
m A 02016 M1 x0.25 P 5 1 30 5 3 8 1.1 25 5 4 -
75 02017 M1 x0.25 B 3 1 30 5 3 8 1.1 25 5 4 -
l‘j A 02018 M1 x0.25 B 4 1 30 5 3 8 1.1 25 5 4 -
< A 02019 M1 x0.25 B 5 1 30 5 3 8 1.1 25 5 4 -
\ 02020 M1.2x0.25 P 3 1 32 5 3 9 1.3 25 5 4 -
C A 02021 M1.2X0.25 P 4 1 32 5 3 9 1.3 25 5 4 -
A 02022 M1.2x0.25 P 5 1 32 5 3 9 1.3 25 5 4 -
02023 M1.2x0.25 B 3 1 32 5 3 9 1.3 25 5 4 -
A 02024 M1.2X0.25 B 4 1 32 5 3 9 1.3 25 5 4 -
A 02025 M1.2X0.25 B 5 1 32 5 3 9 1.3 25 5 4 =
02026 M1.4X0.3 P 4 1 34 7 3 11 1.5 25 5 4 -
A 02027 M1.4x0.3 P 5 1 34 7 3 11 1.5 25 5 4 -
A 02028 M1.4x0.3 P 6 1 34 7 3 11 1.5 25 5 4 -
02029 M1.4x0.3 B 4 1 34 7 3 11 1.5 25 5 4 -
A 02030 M1.4x0.3 B 5 1 34 7 3 11 1.5 25 5 4 -
A 02031 M1.4%X0.3 B 6 1 34 7 3 11 1.5 25 5 4 -
02032 M1.6X0.35 P 4 1 36 8 3 13 1.8 25 5 4 -
A 02033 M1.6x0.35 P 5 1 36 8 3 13 1.8 25 5 4 -
A 02034 M1.6X0.35 P 6 1 36 8 3 13 1.8 25 5 4 =
02035 M1.6X0.35 B 4 1 36 8 3 13 1.8 25 5 4 s
A 02036 M1.6X0.35 B 5 1 36 8 3 13 1.8 25 5 4 .
A 02037 M1.6x0.35 B 6 1 36 8 3 13 1.8 25 5 4 =
02038 M1.7x0.35 P 4 1 36 8 3 13 1.8 25 5 4 -
A 02039 M1.7x0.35 P 5 1 36 8 3 13 1.8 25 5 4 -
A 02040 M1.7X0.35 P 6 1 36 8 3 13 1.8 25 5 4 -
02041 M1.7X0.35 B 4 1 36 8 3 13 1.8 25 5 4 -
A 02042 M1.7X0.35 B 5 1 36 8 3 13 1.8 25 5 4 -
A 02043 M1.7X0.35 B 6 1 36 8 3 13 1.8 25 5 4 -
02044 M2 x0.4 P 4 1 40 9 3 15 2.1 25 5 4 -
02045 M2 x0.4 P 5 1 40 9 3 15 2.1 25 5 4 -
02046 M2 x0.4 P 6 1 40 9 3 15 2.1 25 5 4 -
02047 M2 x0.4 B 4 1 40 9 3 15 2.1 25 5 4 -
02048 M2 x0.4 B 5 1 40 9 3 15 2.1 25 5 4 -
02049 M2 x0.4 B 6 1 40 9 3 15 2.1 25 5 4 -
02050 M2.5X0.45 P 4 1 44 10 3 16 27 25 5 4 -
02051 M2.5X0.45 P 5 1 44 10 3 16 2.7 25 5 4 -
02052 M2.5X0.45 P 6 1 44 10 3 16 27 25 5 4 -
02053 M2.5%0.45 B 4 1 44 10 3 16 27 25 5 4 -
02054 M2.5x0.45 B 5 1 44 10 3 16 27 25 5 4 -
02055 M2.5x0.45 B 6 1 44 10 3 16 27 25 5 4 -
02056 M2.6x0.45 P 4 1 44 10 3 16 27 25 5 4 -
02057 M2.6x0.45 P 5 1 44 10 3 16 2.7 25 5 4 -
02058 M2.6X0.45 P 6 1 44 10 3 16 27 25 5 4 -
02059 M2.6X0.45 B 4 1 44 10 3 16 27 25 5 4 -
02060 M2.6X0.45 B 5 1 44 10 3 16 2.7 25 5 4 -
02061 M2.6X0.45 B 6 1 44 10 3 16 2.7 25 5 4 =

»REANEL Continued to next page




ITY 7L wh-C it TAFLET-C

#E8:HSSE FENYUE:C

Tap material Surface treatment

@ *—KLRUH &1 (Unit) :mm
747 s No. :26) Bft i TR £ K ¥ & (mm) Dimensions SYTIVE | B

Item No. Nominal size 2c Limit | Type L 2 Ds on Dn K 2k Radial | Qil groove ga
02062 M3 x0.5 P 5 2 46 10 4 18 2.3 3.2 6 5 1 J: )
02063 M3 x0.5 P 6 2 46 10 4 18 2.3 3.2 6 5 1 |jl‘ S
02064 M3 x0.5 P 7 2 46 10 4 18 2.3 3.2 6 5 1 9 %
02065 M3 Xx0.5 B 5 2 46 10 4 18 2.3 3.2 6 5 1 W
02066 M3 Xx0.5 B 6 2 46 10 4 18 2.3 3.2 6 5 1 j >
02067 M3 x0.5 B 7 2 46 10 4 18 2.3 3.2 6 5 1 = 8
02068 M3.5%x0.6 P 5 2 48 10 4 18 2.6 3.2 6 5 1 4 3

A 02069 M3.5x0.6 P 6 2 48 10 4 18 2.6 3.2 6 5 1 B %

A 02070 M3.5x0.6 P 7 2 48 10 4 18 2.6 3.2 6 5 1 v E
02071 M3.5x0.6 B 5 2 48 10 4 18 2.6 3.2 6 5 1 \l: 3

A 02072 M3.5x0.6 B 6 2 48 10 4 18 2.6 3.2 6 B 1

A 02073 M3.5%0.6 B 7 2 48 10 4 18 2.6 3.2 6 5 1 ﬁ’_|
02074 M4 x0.7 P 6 2 52 10 5 20 3 4 7 5 1 =
02075 M4 x0.7 P 7 2 52 10 5 20 3 4 7 5 1 4*2
02076 M4 x0.7 P 8 2 52 10 5 20 3 4 7 5 1 v U_')
02077 M4 x0.7 B 6 2 52 10 5 20 3 4 7 5 1 sE-
02078 M4 x0.7 B 7 2 52 10 5 20 3 4 7 5 1 §
02079 M4 x0.7 B 8 2 52 10 5 20 3 4 7 5 1
02080 M5 x0.8 P 6 2 60 10 5.5 22 3.9 4.5 7 5 1 5 I
02081 M5 x0.8 P 7 2 60 10 55 22 3.9 4.5 7 B 1 )—>| T
02082 M5 x0.8 P 8 2 60 10 5.5 22 3.9 4.5 7 B 1 ul 9
02083 M5 x0.8 B 6 2 60 10 Bl 22 3.9 4.5 7 5 1 ﬂ 7
02084 M5 x0.8 B 7 2 60 10 5.5 22 3.9 4.5 7 5 1 o I./
02085 M5 x0.8 B 8 2 60 10 5.5 22 3.9 45 7 5 1 W
02086 M6 X1 P 7 2 62 10 6 24 4.6 4.5 7 5 1 |\
02087 M6 X1 P 8 2 62 10 6 24 4.6 45 7 5 1 1
02088 M6 X1 P 9 2 62 10 6 24 4.6 4.5 7 5 1 C
02089 M6 x1 B 7 2 62 10 6 24 4.6 4.5 7 5 1
02090 M6 X1 B 8 2 62 10 6 24 4.6 4.5 7 5 1
02091 M6 X1 B 9 2 62 10 6 24 4.6 4.5 7 5 1

- FEEMOLCIF2kH R CHESBEISOHRIEE T, (P.222R
- The recommended tap limit in =] corresponds to JIS Class 2 internal thread standard (see page 22).

- ADTATLIEENEEDRE, FIFEEELDFT,
- Items of A will be made to order as soon as they are out of stock.

(ERRERE | FhEesRil | SRR | SREERR BERGEE A7 UUAA | TIVIZUL| PLIS(0ZN BRS(AZN 8 &l | S

Low Carbon Steels | Medium Carbon Steels | High Carbon Steels | Cold Rolled Sheet Steels | Structual Aloy Steels| Stainless Steels| Aluminum | Aluminum Diecasting | Zinc Diecasting| ~ Copper Brass Brass Casting
S10C S22C S45C
SPC SCM AC
§ sus AL ZDC Cu Bs BsC
s20C s40C SPH SNCN ADC

@) O (@) O @) ©)




IT97LYh-C i1 TAFLET-C

#E:HSSE REWUE:C

Tap material Surface treatment

ZZFa7RURIT-TFORESS CRHEE

(um)
—— 50
IT-TF-C :—;17 BRI s
e N —= a =
; s3 10um
ittt st ey B 2 - g 8
s2 L 2
10 =
. (F=
<A0)
o
HY  EvF BHEE B e IR 2R e U EvF  BfHEE B EE bSE=S 2R R j 8
=
S0.5x0.125 1C-S1 1C S1 2 30 3 S0.7 Xx0.175 B-S2 B s2 25 30 3 4 3
S0.5x0.125 1C-S2 1C S2 2 30 3 S0.7 Xx0.175 B-S3 B S3 25 30 3 B %
S0.5x0.125 1C-S3 1C S3 2 30 3 S0.7 X0.175 B-S4 B sS4 2.5 30 3 v I"_I'I
S0.5 x0.125 B-S1 B S1 2 30 3 S0.8 x0.2 1C-S2 1C S2 3 30 3 \': =)
S0.5 x0.125 B-S2 B S2 2 30 3 S0.8 x0.2 1C-S3 1C S3 3 30 3
S0.5 x0.125 B-S3 B S3 2 30 3 S0.8 x0.2 1C-s4 1C S4 3 30 3 % (22}
S0.6 xX0.15 1C-81 1C S1 25 30 3 0.8 x0.2 B-S2 B S2 3 30 3 8
S0.6 x0.15 1C-s2 1C S2 25 30 3 S$0.8 x0.2 B-S3 B S3 3 30 3 Fﬁ E
S0.6 Xx0.15 1C-S3 1C S3 25 30 3 $0.8 x0.2 B-S4 B sS4 3 30 3 E =)
S0.6 x0.15 B-S1 B S1 25 30 3 S0.9 x0.225 1C-S2 1C s2 3 30 3 T:E ©z
S0.6 x0.15 B-S2 B S2 25 30 3 S0.9 Xx0.225 1C-S3 1C S3 3 30 3 E 5
S0.6 x0.15 B-S3 B S3 25 30 3 S0.9 x0.225 1C-S4 1C sS4 3 30 3 § %
S0.7 X0.175 1C-s2 1C S2 25 30 3 S0.9 x0.225 B-S2 B S2 3 30 3 %
S0.7 X0.175 1C-S3 1C S3 25 30 3 S0.9 x0.225 B-S3 B S3 3 30 3 i
S0.7 X0.175 1C-84 1C sS4 25 30 3 S0.9 x0.225 B-S4 B sS4 3 30 3 E.
S
= ]
2T
E:?JT?QEJRQIT-TF(D*EEﬁ%tEQJ@{ﬁﬁ mn 9
—— ~ 13 ‘S0 - 7
IT-TF-C :—;17 DJﬁ Bt ss © ]
W - 4
e T e mEmEET - )
4 s3 10um
et B 21 w0 ]
s2
10
s1
By EvF 2R BfIEE | B BE IR 2R Wz HY  EvF 2k BIHEE | B EE AE 2R R
S0.5 x0.1256 x50 1C-S1 1C S1 2 50 3 S0.7 Xx0.175 x50 B-S2 B S2 2.5 50 3
S0.5 x0.1256 x50 1C-S2 1C S2 2 50 3 S0.7 X0.175 x50 B-S3 B S3 2.5 50 3
S0.5 x0.1256 x50 1C-S3 1C S3 2 50 3 S0.7 x0.175 x50 B-S4 B sS4 25 50 3
S0.5 x0.125 x50 B-S1 B S1 2 50 3 $0.8 x0.2 x50 1C-s2 1C S2 3 50 3
S0.5 x0.125 x50 B-S2 B S2 2 50 3 S0.8x0.2 x50 1C-S3 1C S3 3 50 3
S0.5 x0.125 x50 B-S3 B S3 2 50 3 S0.8x0.2 x50 1C-s4 1C sS4 3 50 3
S0.6 X0.15 x50 1C-S1 1C S1 25 50 3 S0.8 x0.2 x50 B-S2 B s2 3 50 3
S0.6 Xx0.15 x50 1C-S2 1C S2 25 50 3 S0.8 x0.2 x50 B-S3 B S3 3 50 3
S0.6 Xx0.15 x50 1C-S3 1C S3 25 50 3 S0.8 x0.2 x50 B-S4 B sS4 3 50 3
S0.6 X0.15 x50 B-S1 B S1 215 50 3 S0.9 x0.225 x50 1C-S2 1C S2 3 50 3
S0.6 X0.15 x50 B-S2 B S2 2.5 50 3 S0.9 x0.225 x50 1C-S3 1C S3 3 50 3
S0.6 Xx0.15 x50 B-S3 B S3 25 50 3 S0.9 x0.225 x50 1C-S4 1C sS4 3 50 3
S0.7 x0.175x50 1C-S2 1C S2 25 50 3 S0.9 x0.225 x50 B-S2 B S2 3 50 3
S0.7 Xx0.175x50 1C-S3 1C S3 25 50 3 S0.9 x0.225 x50 B-S3 B S3 3 50 3
S0.7 Xx0.175x50 1C-S4 1C S4 25 50 3 S0.9 x0.225 x50 B-S4 B sS4 3 50 3






